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2_Root_Finding
1.
Use the Newton’s Method to find the root for




x2 = 45



Use an initial guess of x1=10 and show three iterations.  Identify x2, x3, etc.

2.
Use THE FALSE POSITION Method to find the positive root for


x3 = 8.


Use x1=1 and x2=3 for an initial guess.  Show two iterations AND x4.

3.
Solve to two decimal place accuracy for one root by one-point iteration starting with x=0.


x2+2ex
= 4.

4.
Use Secant Method to find the root for


x3 + 2x= 41


Use initial guesses of x1=0 and x2 =1.  
5.
Repeat #4 and show one-point iteration starting at x=1. Determine x2 and x3.

********************************************************************

Suggestion:  
Solve these problems on a spreadsheet.  Plot the functions to see what is happening.
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